dl. 03/0¢/201 ¥ A% AUAGTET-01 - 2014 udag
A1943] ya Y= (516544 241742 5) - ardlv : 14/08/2014

10.

11.

12.

13.

14.

15.

2150 2itquq d Adunidl siq uy Asoudy 9?

FU : 82

U dl Az ¥ YUR avy 8g ug HIRl ASH wRAuR As1y 1l Xed Aieor @1 2uucal’ - i1 [ 56
e12u1q uYl5a gaid €9 ?

yaUoL : UYL

walds Qe 2ied....

yauol : 2a- [

RQendllu ad--ulRad= weql sy Gud @...........

KUl : YR2SIR

cunsd youaR duin dviqan Aledl il azziid s¢ dd sl N4 ?

walor : Adal 182 ur 21/l $2a1adl.

cudnsd [Heiy quin dlvaq wSq dAldl 21007 waldy sy 9?2

yaUo : dd=l Quir

qleer 1 Hi sui Yl Avaisuqt 2uuHi 21d 9°?

yaer: 1 450 y4l
GIET Uldi daldis sidsHl- uuy #ilds anausis s anldsi ulfg 52 ¢ 7
yauol : @ (A&

w8y ed ?

walol : ddtHi uRad+ 4wl 524

Ad-unidl sy eun alds ¢ ?

yauol : ololH-

1l Qa1 Qa1 (o3l yoAasi g2-»id2 e (Distance Education) 2434 sl [duz aldelld
6imdl €97

yaUo : AU 24

dlsaudl eaHi DS uRadw #e Ad-uxidl sy ulRein el ay 2Ha5125 €9 ?
yaue : [Qa

AldlPLs 2l@1culsa 217 #iALPLS [RaHHl S ddn ouas 12 HISE eirg sld €9 7
el : Hidildar - [esid

cunsll ylg2is aldarg Y S8 duiR sy &9 ?

e, : 2H

cuns Al [Qsiad 42 4 s:g ulkein sy €9 7

vt : dumA 25 ya waque 9.
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16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

RHUd g1l AldeHY [Aag 2uaul [BHiua 5161 53 sdl ?

walo : Liygeud ods

a5 sidamdig sy w565 dd nell as ?

yaued : [Qenddll- yeuis gl

ARl [es wiey sl aag sy’ e ?

yael : [Quuazg-l 4ol nwsid

U A saitl et [@Qsia’ 21 sdl Geou sdaudl ?

yauor : daldis Ggou

Aseuull [Asia Yuued sl ML gly ¢ 7

yauel : dilgs [QAsin

swalis auon saul anard e yoaed sl wd Asdy & ?

yael : yliuiel e

smalAs Qe 84 g Yeuist ad g yadoua ¢ ?

yauo : 93

afler] eylduel @Qiaw dio-u ol sa el ziavud) sdl ?

yauel : a4l Q& 4l

‘o115 14 il G2 Y4l Hsd 214 sA%ua Qaw.” 2 56 Aldg ysa e ?
yao : agly [z Ald

Ut 21 Al g121 AU 211 S [0 &9 7

yael : Y3155

Hidlalo ved g ?

yauol : Asully 21é

21d8l, Saldll, Hi-lE, %2l, §:ui ol oitnsil sdl [Asi 41d Hoildd &9 ?
yauo : #4idPLs

e sur Geaqd ulRyel seau w2 wisuyas Guuloll ¢ ?

yaiel : Al galda A4

&y [Qdln Fail 2uaRdl i [asag 5§ wy & 7

wauol : 4A1Y Uy

[Qendllg dlou Heuist a1 HIS a1 Us1Rg H=tuaA sig AEX ?

el : Guru o4 (A2 u=-laly

Ui AUlSar] [Aseui 87U - 241 AvcAYS WIS quAdl 1l 41U Aoe s4l €9?
yauol : 2ddadl

......... AUAS] WA ........... WSAYRAS] ..... NS,
yauel : o4, Ylduldl-i, slal
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33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44.

45.

46.

47.

48.

AP M5 AY AL Sl ........ $& 5 (UAS ......... gls wal &. [as wolll 94 ........ ¥l
$2aug’ €.

waloL : dHEl, sHA, dHY

1. g vilel el ¥ 5% Qe 337 2. de el aua 537 3. R Y 514 52U & 7 - 41 AGlY AusAHL
yrqquas [qaluw sui ¢ ?

yae : 54, dl, g

AoeSiNl 1Al 54 e 52,

ya : s, slasi, scu, sE04

Adruniel] «ifl Asoll s¢ &9 ?

AU : YUS5R0

ACEAYS HIS 23 Aee yudl : ‘s AN YA 44 Gyudl Geua’
yauol : HlQHsleHd

WRIHEZ® dd)s valld Haq-ur s[4 siw e ?

wdlol : QHIHE

AGE S $HHI 9¢d Ul UeE 21q9 ?

el : [@ldy

@ Rl adl, a2yl adl’ - 2ual e 2uudl Jleuuio sal & ?
el : @d ydls efaql

Ut CfldlHl ¢Hg” - 20 JHAI A Y w7

walor : e S¢S o (232 1 slg

YRSl 2 4gl [Hua’ - séaa-l [Aegid] séaa aui :
yaue : qls 412 dell 1 A4S

G 53 v €9.7 - 21 USAHT VY 69,7 [FAIYE ] USIR Qvil.
yaus : 4543 [Fa1ug

QwRAdIHL A1l taldul sedl €9 ?

wque : Yy

Wad’ - «il [AA4] e sul €9 ?

yaus : aldis

il aoglnid] sut qoeql 219 SISl adl el ?

el : Wl

Al LT HISIUHI” Sl 4Y'S S0 €9 ?

yauel : gelis siulSul

RAHIT YL e Sld el 34 d@d ...

yalel : elld
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49. ldeis2 A yradl aldcuni sur Guumdl mellar 9 ?
walol : YH3g
50. “son=l qull o-ll 24l deru” 2 sicuvilsa sui slA- Ruq €9 ?
yauor : 23dUg Hewsll
51. Al 56 sld u~nena wlq’ ¢ ?
yaol : AHY BAY
52.  [uy darsial’ 3euuiol A1 o,
yauel : lAHim ag
53. 2l [Asey 44 su aoe] osell il &9 ?
yauer : Ylyy
54.  Ald-unidl ‘vaa’ ace-l yaluqidl 4 sia dal quce sul ¢ ?
yauel : (dy—
55.  ‘uiq+’ qoe-ll 4[4 e9lsal -
el : Y4l + ¥
56.  ‘@qual ol wsulor nausl, vise] c1ausll 1 qiydl’ - 2 ylsa sui sla-l 9 ?
el : GHI9i5R 2]
57.  [Rella’ uveql wd g iy ?
yael : HeAR
58. eunsly dd gg sld dq aisd sy 69 ?
yao : dHIH AL 5% U2 819R Sl
59. 2da A¥iudl el 56 o il ¢9 ?
YU : YR - 1R
60. lAlQus-l 3¢ [Qod vild] &9 ?
et : HlsR = My + €2 agl [AvsiH = [y + 14 o vt Himd
61. Choose correct sentence.
qiet : What might have happened to the football ?
62. I have an umbrella. This umbrella is not ......
2dlol : mine
63. Sure, I .................. complete my task.
el : will
64. Kapildev was the .........cceeeuueee bowler in the India.
4o : fastest
65. 1 have ....ceeeueenes the reading competition.

¥dlsl : won
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66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

71.

78.

79.

80.

81.

82.

83.

PLN £: ) N the matter among all the members.

Aot : disclosed

As the child was alone, 1 look after it.

4l : had to

My brother speaks ........ccceuueee. he were a leader.

ot : as if

I am a fan of Amitabh Bachchan. His ...................... is good even at this age.

qiet : performance

This is my purse. Where is ........cceeueeee ?

Y4l : yours

The neem tree is .......cceeeeueee my house.

4o ¢ in front of

Choose the past participle of : “Teach”

¥dlol : Taught

Find out the correct spelling :

yaiet : Geography

They will inform you that they . just to Haridwar.

¥dlol : have, gone

I have to go to Mumbai ..........ccceeueeee

Ydlel : tomorrow

Change voice : By whom was that glass broken ?
¥4l : Who broke that glass ?

...................... milk is there in the bottle.
diet : How much
Our car was running .......c..ceceeeeeees the road to Udaipur.

¥dlol : along
‘The farmers grow wheat in the winter season.’ - show the kind of noun of ‘wheat’ word :
diel : Material

See, the garden .............cuu.... the flowers from garden.
yalod - is plucking

Find out ‘Adverb’ from the following sentence :
The good persons always act honestly with other people.

¥dlol : honestly

Monday comes .......ccceeeeenncens Sunday and Tuesday.
4l : between

Find out the correct opposite word of : ‘Handsome’
yaiet : Ugly
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84. ‘The eagle can see very far. It has sharp eyes.’ - find out the meaning of the ‘sharp’ word.
aiet : powerful
85. Which of the following words is ‘Adjective’.

diel - Kind

86. it I help you in your work ?
yalel : May

87. Would you mind ........ccceeeueeuee the window ?

yaiet : closing
88. Chirag was absent yesterday because of his Father’s.....................
ot ¢ illness

89. Kajal says she can’t .......ccceeueevveeunene our invitation for lunch today.
yalol : accept
90. The cyclone caused damage to the village.

xdlol @ extensive

3 .
91. o J SHH JUIAR ... Hol.

ol : 37.50%
92. s aq 44l wnr sea [Aladle: 2
yae : 1 [Aladle:
93. alda [awwi 4w Us] 56 cusia Al ay qry us &2
yauol : dsldsiy
94.  3.5000 8% qui2 quvu AEL 1Y 2 A5 Ayl asidd seel A ?

¥l : 3. 32

95. 3 g %Ay A ... vl &.
YU : HAHY

96. Yl sUL e Y €9 ?
wya : A

97.  $HYAS Avardl Wy ld sy ?
yaUoL : A% Heil HIl A4 g Ascll2l ] d]

98. s #ler vt seeu S wy ?
yauol : 39.37 6

99. i3 Alkull uRMAIA 100 12 iy, dl d Ul d=sa sear Al Hl. ay ?
yalo : 625 AL H.

100. 2% dguusiz Helrl et 140 HleR ¢, 2 Heridl $2d 3 layHle: dvl glkg alsaaudl 4%
sedl ay ?

yauel : 1320 3.
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101.

102.

103.

104.

10S.

106.

107.

108.

109.

110.

111.

112.

113.

aerflolvi-d] aisl oundl 425 Hlez g2 ¢9. stmuciviqil awsl el aisledl 575 Hlez g2 . oivi-l
adl 2is o Y2uu u 9. dl undll sticia4l sl sedl g2 w4 ?

wauor: 1000 HleR
1 5.2 dlygil (ua30 3. €9. 3 dloyg aw1100 24 2 €9. dl 215 dleyfl [Sud sedll ag ?
e : 1 3.

udlol : 53
2 N 32 g 2 A YoV or )
(23) 21 2% ofl Byq 423 dsida 3eaqlad ?

xqiel : 448

Wiy vl 4AgA3 6 ¢9. d Ugl aw vl Ayl 4 Sid dl oudl o vl auAdl ...
%Y,

ydiel: 9

59 i AT 241e91 2l GHAA al A7 2413 a3 [[:ay euoll s ?
ydlol o 4

S R%HU25 U255 25 WA ?

waqust : 400

51 9 60 2 2dd] 2ldeury qvdHidl AU .......vvvee. 1.
ot : 112

25 sl veuziiu Hiy 1:4:5 A QHIQHEE, dl Astoru dld] wiar ven 24 dldl - veu-u
HIYL ASIA cvererereanen. .

xdlol : 72
61214 ABCD il uR(AlA 36 ¢9. % AB : BC = 4:5 S14 Al BC = eoueeeeeeeeeeeerrerene
yao: 10

Lsioru 215 voug Hiu 85° &. cusl of vl Hiuil dsiad 35 6, dl ol 6 weu- Hiy
sed1sdl ?

yaUel : 65,30

sdasyderHi 2uial viel U4 :
1) 29q U Guulad] 55q e9¢d g1ve s3] vl g2 Ay 6.
?2) eiewivil Gualod] asiy agiadl gy 6.

yael: 1 2 o AL 8.

7 :
3 "l AHHYLUS ALY,

yu : aes
56
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114. aga #l 4 U4 sy asa wig e ?
yauel : i [[Aral sal 2141 sl &,
115, < U] auy aHls2e sy &9 ?
yau : vl = ¥ [54d — a1 [54d

116. 5+10 + 15 + wrrrrrrnene. +100 <2l =aual al4l.
el : 1050

117. a4 3:30 sau5 alSuia- o sizr a2 sedl e wei o ?
yaie : 75°

118. 7 (w&)l F4d 3.1416 Al ua¥ s 2udl ?
Fe, : HIAHZ
119. 137° -1 Y25 sla-u sil2slag Hiu 524 7
yalol : 47°
120. 20vts woui-l As-l ouota4i g uy 14 ?
wao : ol (5200 [A3g 1 8ly
121. 151 aes’su 2014 4 51654 Haui sa viasl¥ ol 53 w4 Qya 2wl ?
yauer : Hidl2l Al
122, 471939 Hi Yeuns olls sa A sl uad 2@ 53 gdl?
yalel : 5lkas oals
123. 2l g2 qrudy Al 4ilds ys ied....
yauol : [Se Yy
124. YlAd yaol Agy sui adU- n3d?
yael : Yod-leedl-slasau-4~ue
125, Aled-u U] vig [dun uae 3.
yao : vyguyAl eruadl e 2. Ha.2ue. o e sla &,
126. 3¢ Helay s4i 2udal ¢ ?
yauel : [egy?
127. %% 2 azdid Alwda sl 214 anil Yoo Qaa 5§ wiglql anlde g ?
yaol : Ay Alel
128. ‘dlu $u2’ anwi1 dl §y2udlu Ay Al iy dl, 1 dl Wi lead sul wr ¢4 ?
yA : HIAAUR
129. 30 Hl 2ilieq sut leau adls Graqwi 2ud ¢ ?
yauol : oy Hydl [l e
130. GuRard sfuRwr AGu uYv S8 Sdl 7
ol : Sl APE UALE
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131.

132.

133.

134.

135.

136.

137.

138.

139.

140.

141.

142.

143.

144.

145.

146.

147.

aldl Hig vizt welly wiaR sy 21 sui 2udg €9 ?

yaiol : sy YA, AAAl

‘de Hid¥’ M oislmds A2 3¢ daasunidl dami sy ¢ ?
yAo : HIE HS

$26911 sUL UHT (R U412 SA2y [AdY’ adls nér sy’ ?

yau : dl

MiRdly el elaaql sl sul ¢ ?

yauer : Sle ul-e

Mird-ll uaH dldd] Fen duay 20’ 56 aaHl ueldla ae ?

¥als : 1931

v QUltl oirlell sl &9 ?

yaus : 32+

yeld] awldlell aacar 15 450 5.4 GlaueS g4l sar iyl 4 »uddl &9 7 d g« s ol
200 aluw 53 ¢ 7

yauel : Al Ay, wR Al Lau

Ylgil UARHE g4 ARH 534 R dddll ¥ wu €9 d Gl eIl sUL USIR & 7
yalel : GrHIL dgl

aAloyg g8 il wd aud 2 2ud ¢,

pdlol : SUER

Adunidll sio Yorsdl 2usuig 4l ?

yUH : SR

$¢ aneuldui dysa uel sy &9 ?

yaus : dlusi

€eAU YoisiRuetl [FuHn He Mg slg 938 ¢ :

yauol : slEaH aq ylelauy i yaer Hivy

5405 olyql HiS sul 451 [Aaug-il alr auy &9 ?

walo : sl + Ay

el 2w 357l g A €9, d d-uld-l $¢5 ulsaid 2ueudl ¢ 7
yauol : Geedert

ol 2 a2d seal vadl wel Aviaudl s aqru vy uldlio wa ?
yalel : 0°

Hirqaadly sy Ao Wiz gUlg oy €9 ?

ydlel : -ils

AHAuH wS2iesed AM sql 58 [Auy ua ay &9 ?

¥dlo : N,
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148. sul 2isue ARAdls yayy qad & 7
yae : SO,

149. sile2s Alsiu srawwl sSglsalRs YRS Aval Hlg s well o1 €9 d su wHls2@8 calay ?
¥qlet : NaOH + HCl = NaCl + H,O

150. 2ulR assiiedl xurts a4l s 4 ol cu? wivl R 2udl ny . 2ug v sul
ol ay ¢ ?

waiel : 4141
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